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254 H31.3.19|BEHEY 3%y JASNE - 3,381 |HHEZ
255 H31.117|FERMESTEH /N F R B rHH 12,312 JLHAFLE
256| H31.1.19|1 71k Y~ X MNEEIES
257 H31.1.21|#REE 1H %y & L T 1,000 |{TEEALE
258| H31.2.23|BKEME 2 H %y & L T 3,000 [JTEA5LZE
259| H31.3.18|#XEME 3H %y & L T 2,000 [TEE5LE
260[H30.12.27 |BREFE: 121 4y PSS 3,110 | 76 [ BT —
261 H31.1.21|#0EE 1H % PISE A 3,252 | 76 [ BT —
262| H31.2.28|#EME 2 H %y PSS 5,000 | 5[] BT —
263| H31.3.12|#EME 3H % PSS 1,827 | 8 [if] 5. —
264 H31.1.6| B AZE B ook HAZE B 10,800 7 i) B —
265 H31.1.16|=t"— FI#K AFT SR 7 i) B —
266| H31.1.16] i@k EIRmI P T 7 i) B —
267| H31.3.15|=t—F N — FHEAR Joa— %3 EIR
268| H31.2.9|%%ELE 2H % (bRt b A7 1,896 |z@Ad5LFn
269| H31.3.10|%%ELE 3H % (BRfE R R 3,074 |ZEAT5LFn
270| H31.1.18|h—4 /L — 2k 2 H 4y (R 7 — 1,080 FATELFN
271 H31.2.18|h—% /L —t 28k H %y bR 7 — 1,080 FATELFN
272 H31.3.18|h—% /L — 282 H 4y B 7 — 1,080 F AT 5LFN
273| H31.3.28| RAEEE 1~38 %) Fiii L S — AT - S 10,200 F AT 5LFN
274 H31.1.28|=2"—FE)— 2 BF12 A 4> HaFyEsL 3,780 F AT 5LFN
275| H31.2.27|=2v"—gE)— 2B} A 4> HaFrEsL 3,780 F AT 5LFN
276| H31.3.27|=2"—gE)— 2 B}2 A 4> HaFyEsL 3,780 F AT 5LFN
277| H30.9.15|8EE 9 H 4y JAZHY AR H 1,870 |H B R
278|H30.10.19|BXEFE: 10 H 4y JAZHI AR H 4,974 | BT SRR
279|H30.11.27 kM 11H % JAS AR 5,000 |75 e
280[H30.12. 31 [BREHE 121 & JAZDN AR H 5,000 [T EF %EE
281 H31.2.23[BREHE 2%y JAZDN AR H 5,000 [TEF R
282 H31.3.8[BREME 3%y AZDA AR 2,852 [T HF R
283 H30.9.21|#REFE 9H 4y FEEAA 1,714 NP5 a1
284[H30.12.24 | BREFE: 12H 4y FEE A 1,741 PR gt
285 H3L.1.20|#REFE 1H 4%y FEE A 1,666 | -5 g1
286] H31.2.27|#REME 2 H 4y FEE A 3,269 [ m
287 H31.3.18|#REME 3H 4y FEE A 1,667 |75 s
288 H31.1.4|=—88)—=Ef1 H %y Vo —J— AR 9,504 P R
289 H31.2.4|="—F&V—=Ef2 H 4y Vo —J— AR 9,504 P R
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290] H31.3.20[="—F&) — 2 B3 H 4y Ja—V— ARt 9,612 R
291|H30.12.28 |2 —4#% R5FSM 11 % Va— vy RS 3,348 R SR
292 H31.1.26|=2—% fR5FSM 124 % Va—Dy Uk 3,348 R
203] H3L.1.21[ A 7% FhL~ 2,344 S B gE
294 H30.5.19|8%EH: 5H % JASHH 54 I K s EE
205| H30.6.23|1%EH: 6 H 4 JASD R I K s
206 H30.8.8|kEHE: 8H 4 JASHH 54 DK [
297[H30.11.17 (BB 11H 4y JASHH 54 JA K s EE
298|H30.12.24 [ BREHE 12 H % JASHH 54 DK [
299 H31.1.31[kEHY 1H % JASHH 54 JA K s EE
300[H30.12.28 [z —HE{RSF i Bk 12 H 4 B ar —H—E X 2,052 K PR
301 H31.1.31 [z —RE{ESF ikl A 4 A I —3 —E X 2,052 K PR
302] H31.2.28|= " —RE{%~T S Mk H ) ——E R 3,115 DKt
303] H31.3.5|a—fgrh—%/L % —F xﬂ 10H~1H% |7 — 4,320 JIEIEEZ A0
304] H31.2.25]2—f& i) — 2B} HFvE AL 14,256 JIEIEEZ A0
305| H30.9.12|8%EH: 9H 4 HE A JIEIEEZ A0
306[H30.12. 14 [BREHE 12H 4y HE A JIEIEEZ A0
307 H31.1.11[%EHY 1H % HE A JIEIEEZ A
308|H30.12.30 R EHE 12 H % FRASX X —R A N
309 H31.1.25[%EH: 1H % JASHE Lrfh N
310 H31.2.21[%EH: 2H % JASH S N
311] H31.2.23]OAFE S ﬁ{ﬁ7&75’ PCDEPOT 8,424 N
312] H31.2.20]USBAE) — T T IV N 13,824 FAK R ER
313[H30.12.24] A 71X Amazon 5,358 FATK HE iR
314 H31.2.24[FFe UM RE T B 2017 Amazon 3,240 FA KR
315] H31.1.15|/ V=2 §EAT T T IV N 101,196 N
316] H31.1.23]0AME R 75 v 2 A€ AN 5,572 "Q}ﬂﬁfﬂa
317] H31.2.14|3C A H i AFS SO 4,937 A KRk
318] H31.2.10|#H 2% IR ACK S 65,380 AL
319] H31.1.28[fi%2 LD 85,620 FAKERER
320] H31.1.28[#H %% HUET 85,620 HHFA
321] H31.1.28]|#H %2 AR 85,620 [ ERR
322] H31.1.28[i%2 AT 85,620 MEEIN:E
323] H31.1.28]#H %2 LD 85,620 HEEZ
324] H31.1.28]| 1R %2 LD 85,620 " IR ek
325] H31.1.28]1H %2 LD 85,620 K [
326 H31.3.16[%EH: 3H % JASHE Lrdfh FATK #E iR
327 H31.2.28|18kEHE 2 H 4 54 EIFEZA]
328] H31.3.31 Hﬁr%EFﬁﬁﬁmﬂ AR E S 31,476 A KRk
329]  H31.3.6| EEE /N K I R D il 2R | ESN 1,512 A KRk
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330] H3L.3.7[EFERTHUE ClIUD LA A4~ 2T | [PER 2,592 FATK R R
331 H31.3.9[FFHRIHEESLDOA] Amazon 1,150 FATK i
332] H3L.3.11[3CEAY ZUT —RL A (eI 1,371 FA KRR
333 H31.3.9[xr B o — K WO 277 1,770 N
334 H31.3.20|26—k8 TRorriikk 1~31 4y Va— vy RS 10,374 R
335] H31.3.27|="—HEL . Z /L k}2 H WiEaAT 5,400 EEIDN
336] H31.3.25|= " —RE{% T Aife aJ= NI NH 13,509 HHFIA
337 H31.3.29|%EH: 3H 4 & AT 666 [JT.5E5LF
ik ——
338| FI131.3.30 |kt 48 ~3 A Eaﬁ*ﬁ%ww 37,116 M=EIN;
339[H30.11.22] 1> 7% A AL I A ARME 3,852 B IR it
340[H30.10.31 1> 7% Y~k 1,252 = IR iR
341[H30.11.16[3C BAX H—RHK NP 641 B IR ft
342




